Word Problems

Radioactivity 

A certain radioactive isotope has a half-life of 24 hours. What fraction of this isotope will remain radioactive after five days? 

A. 1/4 

B. 1/8 

C. 1/16 

D. 1/32 

E. 1/64 

Algebraic Word Problems 

Two numbers differ by 2. Five times the smaller number diminished by twice the greater number is 8. The numbers are ... 
Tank Proportions 

A gasoline tank has a capacity of 18 gallons. The tank is 1/4 full. The additional number of gallons needed to completely fill it is ... 

A. 14.5 

B. 11.5 

C. 13.5 

D. 12.5 

E. 15.5 
Goofy Math 

2 fingles equal 6 rorgs. 12 rorgs equal 1 noggle. How many fingles are there in 5 noggles? 

A. 12 

B. 14 

C. 16 

D. 18 

E. 20 

Consecutive Integers 

Determine three consecutive even integers whose sum is 78. 

Venn Diagrams 

Market research determined that 60% of a population had tried brand X, 50% had tried brand Y, and 20% had tried both. What percentage of the population had tried neither? 

Walkabout Math 

What is the total area of the figure you walked around if you walked 20 feet south, 30 feet east, 40 feet north, 70 feet west, 20 feet south, and then directly back to your starting point? 

GEOMETRY


Thales theorem

If several parallel straight lines are cut by two transversal lines, and the intervals on parallel lines on one side are equal then the interval on the other side between parallel lines are also equal.
Problem. Prove Thales’ theorem.

Problem. Divide a given segment into 5 equal parts.

Midline in a triangle

Definition. Midline in a triangle is a segment connecting the midpoints of its two sides.

Problem. The midline in a triangle connecting midpoints of its two sides is parallel to a third side and its length is one half of the length of the third side.

Problem. Show that the midpoints of the sides of a quadrilateral are vertices of a parallelogram.
Trapezoid.

Definition. A trapezoid is a quadrilateral two opposite sides of which are parallel. These sides are called base sides.
Definition. If the left and the right side lengths of a trapezoid are equal then it is called isosceles.

Definition. The segment connecting midpoints of the left and the right sides of a trapezoid is called the midline of a trapezoid.

Problem. The midline of a trapezoid is parallel to its bases and its length is equal to half of the sum of the lengths of its bases.

Problem. Show that an isosceles trapezoid has equal angles formed by the lower base and left and right sides.

Problem. Parallel lines intersecting both sides of an angle cut on both sides proportional intervals.

Problem. Given intervals of lengths a,b, and c. Using only compass and ruler make an interval of the length bc/a.

Problem. The ratio of lengths of two sides of a parallelogram is ¾. Find the lengths of all sides of the parallelogram if its perimeter is 2.8 meters.

Problem. Is it possible that one angle of a parallelogram is 40º and another angle is 50º?

Problem. From the same point of a circle two chords are drawn. The chords are perpendicular. The distance from the first chord to the center of the circle is 6cm, while the distance from the second chord to the center is 10cm. Find their lengths.  

Problem. One diagonal of a rhombus is equal to its side. Find the angles of the rhombus.

Problem. The ration of two angles made by one of the diagonal of the rhombus and rhombus’ sides is 4/5. Find the angles of the rhombus.

